TR30EE IEFPER (FR30£4A1ARHE)

ETKEE KEMRRE

N O T = £ 5 I F 35 B |Bhorxssm IFEQREAMN | F OB Z| AL G AE | AL G B [EE
ERARAETBEIZEMANERKER EREETHIR

1 |58T % EfRARTATHihA 64 H TARK—KTE |ZBp500 188m |{T—fEssE A4l | FE_rmFH
ERHBA=TBHIEHNEKEH EREEDHIR

2 |BT=E EfRHA=THHA 6~ A8 TARA—KTITE [F4500 182m |F—fB5EAL| FZrmHEH
EfRBA2=TH2EHMNERKER EREETHIR

3 [BIE BRBA=THR 64 H TAR—KTE [F4500 193m |[{T—fE5ne A4l | F_rm3H)
EfEH 42 =TBIEMANEKE EREEHIR

4 |H/IE BB A<=THH#HNA 6~ A TAR—KITE [F4500 130m [{T—E5e A+l | F_m3H

FREETHIR

S |FMTFERIBMARKERSZTSE [HTERMA 6~ A TAR—HKTE (%4200 340mth | F—AEFFEALL | FE_HFH
FERHIBEMANEKERSET EREEHIR

6 |F (FAI0EE) T2 EHATH A ayH | IA—HKTE (€620 190m | MHEFALL| FE—rmpH
+=EHBREKERRIE (F EREETHIR

7 | B304 E) EEXE—THHRA 47 B TAR—RKIE |Z$300 30mith | F—MBFEEALL| F—mFH
FER-TH2HZMRNEKEME

8 [T= FER-THH#HA 3~ H TAR—ATE |E$75 70m ERFHEEALL E=PH
BER—THI2EMANEKER EREETHIR

9 [BIE HHEFR—THHA 34 A TAR—RKIE |Zp150 5imits [ F—MBFEEALL| F=mFH
FERATHIBMANEKEME

10| L% FERRTHMHA 3~ H TAR—AKTE [£4100 11im ERFHEEALL E=P3H

X DHASNERARE. FPEGCEERBEHPLET I ENHY FET .




TR30EE IEFPER (FR30£4A1ARHE)

ETKEE KEMRRE

N O

T = £ g1 I EF 15 fr  [BhoIxEsm

TEDFEH

I = B =

AR (BRE9) 7535

A$L (3R4Y) B

&%

11

BEHE—-TH2EMRNEKEMRT

= BHE—THMHRA 3~ A

TR—KTE

E P15 86m

HEREREAL

12 4

HATKETEICHSHRRKEBRZIEEZTAEE 2R ~3MA

TR—HKTE

R K E DR

B FREALL

13

14

15

16

17

18

19

20

X DHASNERARE. FPEGCEERBEHPLET I ENHY FET .




